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Academic Year 2021/2022 – Term 3
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12 m2
50 m2 77 m2

𝐴 = 𝑏ℎ𝐴 = 6×2=

𝐴 = 𝑏ℎ𝐴 = 10×5=

𝐴 = 𝑏ℎ𝐴 = 11×7=



6 m2
48 m2

87.75 m2

𝐴 = 𝑏ℎ2 = 4×32 = 𝐴 = 𝑏ℎ2 = 12×82 = 𝐴 = 𝑏ℎ2 = 15.6×11.252 =



76 m2 90.4 m2

𝐴 = ℎ(𝑏1+𝑏2)2 =8(11+6)2 =

𝐴 = ℎ(𝑏1+𝑏2)2 =8(7+15.6)2 =
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2m

4m
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50 m2

Original Area= 𝑙 × w = 2 × 4 =8 m2

New Area= 2.52 × 8  =
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175.14 m2

𝐴 = 9 × 8.4 + 9.3 × 12.6 − 4.2 × 4.4 =
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212 m2𝐴 = 15 × 12 + 11 × 12 − 10 × 10 =
15

12

11

12

10

10

A= 12×15= 180
A= 12×11= 132 A= 10×10= 100
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𝐴 = 12 × 12 + 12 × 15 − 6 × 7 = 282cm2
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64cm
50cm

25cm

𝒗𝒐𝒍𝒖𝒎𝒆 = 𝟔𝟒 × 𝟓𝟎 × 𝟐𝟓 = 𝟖𝟎, 𝟎𝟎𝟎 𝒄𝒎𝟑
𝒂𝒎𝒐𝒖𝒏𝒕 𝒐𝒇 𝒘𝒂𝒕𝒆𝒓 = 𝟖𝟎, 𝟎𝟎𝟎 ÷ 𝟏, 𝟎𝟎𝟎 = 𝟖𝟎 𝒍
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125 cm3

240 m3
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𝒗𝒐𝒍𝒖𝒎𝒆 = 𝟑. 𝟓 × 𝟒 × 𝟕𝟐 = 𝟒𝟗𝒎𝟑 𝒗𝒐𝒍𝒖𝒎𝒆 = 𝟕 × 𝟖 × 𝟏𝟎𝟐 = 𝟐𝟖𝟎𝒎𝟑
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𝒗𝒐𝒍𝒖𝒎𝒆 = 𝟏𝟑 × 𝟑. 𝟐 × 𝟏. 𝟒 × 𝟐. 𝟖 = 𝟒. 𝟐 𝒄𝒎𝟑
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𝒗𝒐𝒍𝒖𝒎𝒆 = 𝟏𝟑 × 𝟕 × 𝟑 × 𝟗 = 𝟔𝟑 𝒄𝒎𝟑
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𝑺. 𝑨 = 𝟐 × 𝟕 × 𝟒 + 𝟒 × 𝟓 + 𝟓 × 𝟕= 𝟏𝟔𝟔𝒎𝟐
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𝑺. 𝑨 = 𝟐 × 𝟕 × 𝟒. 𝟖 + 𝟒. 𝟖 × 𝟔 + 𝟔 × 𝟕= 𝟐𝟎𝟖. 𝟖 𝒄𝒎𝟐
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𝑨𝟏 = 𝟒 × 𝟓. 𝟕𝟐 = 𝟏𝟏. 𝟒 𝒎𝟐𝑨𝟐 = 𝟒 × 𝟖. 𝟔 = 𝟑𝟒. 𝟒 𝒎𝟐𝑨𝟑 = 𝟕 × 𝟖. 𝟔 = 𝟔𝟎. 𝟐 𝒎𝟐𝑨𝟑 = 𝟓. 𝟕 × 𝟖. 𝟔 = 𝟒𝟗. 𝟎𝟐 𝒎𝟐
Total Area= 𝟏𝟏. 𝟒 × 𝟐 + 𝟑𝟒. 𝟒 + 𝟔𝟎. 𝟐 + 𝟒𝟗. 𝟎𝟐 =𝟏𝟔𝟔. 𝟒𝟐 𝒎𝟐

𝑩 = 𝟐 × 𝟓𝟐 = 𝟓𝒎𝟐𝑯 = 𝟒𝒎𝑺. 𝑨 = 𝟏𝟐. 𝟒 × 𝟒 + 𝟐 × 𝟓 = 𝟓𝟗. 𝟔 𝒎𝟐

𝑺. 𝑨 = 𝑷 ×𝑯 + 𝟐𝑩
𝑷 = 𝟓 + 𝟐 + 𝟓. 𝟒 = 𝟏𝟐. 𝟒 𝒎
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𝑺. 𝑨 = 𝟏𝟐 × 𝑷 × 𝒍 + 𝑩𝑷 = 𝟒 × 𝟓 = 𝟐𝟎 𝒄𝒎𝑩 = 𝟓 × 𝟓 = 𝟐𝟓 𝒄𝒎𝟐𝒍 = 𝟖 𝒄𝒎𝑺. 𝑨 = 𝟏𝟐 × 𝟐𝟎 × 𝟖 + 𝟐𝟓 = 𝟏𝟎𝟓 𝒄𝒎𝟐
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𝑺. 𝑨 = 𝟏𝟐 × 𝑷 × 𝒍 + 𝑩𝑷 = 𝟒 × 𝟑 = 𝟏𝟐 𝒄𝒎𝑩 = 𝟑 × 𝟑 = 𝟗 𝒄𝒎𝟐𝒍 = 𝟗 𝒄𝒎𝑺. 𝑨 = 𝟏𝟐 × 𝟏𝟐 × 𝟗 + 𝟗 = 𝟔𝟑 𝒄𝒎𝟐
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𝒗𝟐
𝒗𝟏

8 cm

6 cm

𝒗𝒐𝒍𝒖𝒎𝒆 = 𝟑𝟖𝟒 + 𝟕𝟔𝟖 = 𝟏𝟏𝟓𝟐 𝒄𝒎𝟑
𝒗𝟏 = 𝟖 × 𝟔 × 𝟖 = 𝟑𝟖𝟒 𝒄𝒎𝟑𝒗𝟐 = 𝟏𝟔 × 𝟔 × 𝟖 = 𝟕𝟔𝟖 𝒄𝒎𝟑
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𝒗𝒐𝒍𝒖𝒎𝒆 = 𝟔𝟒𝟖 − 𝟒𝟐𝟎 = 𝟐𝟐𝟖 𝒄𝒎𝟑
𝒗𝟏 = 𝟔 × 𝟏𝟐 × 𝟗 = 𝟔𝟒𝟖 𝒄𝒎𝟑𝒗𝟐 = 𝟏𝟎 × 𝟔 × 𝟕 = 𝟒𝟐𝟎 𝒄𝒎𝟑

𝟏𝟎 𝒄𝒎𝟕 𝒄𝒎𝟔 𝒄𝒎 𝒗𝟏𝒗𝟏
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𝒗 = 𝟑 × 𝟑 × 𝟐 + 𝟗 × 𝟐 × 𝟐 = 𝟓𝟒 𝒄𝒎𝟑
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𝒗 = 𝟐𝟎 × 𝟏𝟎 × 𝟓 + 𝟏𝟎 × 𝟏𝟎 × 𝟓 = 𝟏𝟓𝟎𝟎 𝒄𝒎𝟑
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𝒎𝒆𝒂𝒏 = 𝟑 + 𝟒 + 𝟔 + 𝟎 + 𝟐𝟓 = 𝟑
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85, 88, 90, 93, 93, 94, 97

93 93
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Median=30

Mode= 40

𝟏𝟕, 𝟏𝟗, 𝟐𝟎, 𝟐𝟏, 𝟐𝟒, 𝟑𝟎, 𝟑𝟑, 𝟑𝟕, 𝟑𝟖, 𝟒𝟎, 𝟒𝟎
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56,    57,   58,  59,  60 ,61,  62,  64,  67,   71

MedianQ1 Q3

IQR=Q3 –Q1 = 64-58=6

𝑹𝒂𝒏𝒈𝒆 = 𝟕𝟏 − 𝟓𝟔 = 𝟏𝟓
𝒕𝒉𝒆 𝒓𝒂𝒏𝒈𝒆 𝒊𝒔 𝟏𝟓, 𝒕𝒉𝒆 𝒎𝒆𝒅𝒊𝒂𝒏 𝒊𝒔 𝟔𝟎. 𝟓,𝒕𝒉𝒆 𝒇𝒊𝒓𝒔𝒕 𝐪𝐮𝐚𝐫𝐭𝐢𝐥𝐞 𝐢𝐬 𝟓𝟖, 𝐭𝐡𝐞 𝐭𝐡𝐢𝐫𝐝𝐪𝐮𝐚𝐫𝐭𝐢𝐥𝐞 64, and the IQR is 6



𝒎𝒆𝒂𝒏 = 𝟓𝟖 + 𝟖𝟖 + 𝟒𝟎 + 𝟔𝟎 + 𝟕𝟐 + 𝟔𝟔 + 𝟖𝟎 + 𝟒𝟖𝟖 = 𝟔𝟒
|𝟓𝟖 − 𝟔𝟒| = 𝟔|𝟖𝟖 − 𝟔𝟒| = 𝟐𝟒|𝟒𝟎 − 𝟔𝟒| = 𝟐𝟒|𝟔𝟎 − 𝟔𝟒| = 𝟒|𝟕𝟐 − 𝟔𝟒| = 𝟖|𝟔𝟔 − 𝟔𝟒| = 𝟐
|𝟒𝟖 − 𝟔𝟒| = 𝟏𝟔|𝟖𝟎 − 𝟔𝟒| = 𝟏𝟔𝑴𝑨𝑫 = 𝟔 + 𝟐𝟒 + 𝟐𝟒 + 𝟒 + 𝟖 + 𝟐 + 𝟏𝟔 + 𝟏𝟔𝟖 = 𝟏𝟐. 𝟓
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𝒎𝒆𝒂𝒏 = 𝟖𝟖 + 𝟕𝟕 + 𝟔𝟓 + 𝟕𝟎 + 𝟔𝟓 + 𝟕𝟐 + 𝟗𝟓 + 𝟖𝟎 + 𝟏𝟎𝟔 + 𝟔𝟖𝟏𝟎 = 𝟕𝟖. 𝟔 𝟔𝟓 − 𝟕𝟖. 𝟔 = 𝟏𝟑. 𝟔𝟕𝟎 − 𝟕𝟖. 𝟔 = 𝟖. 𝟔𝟔𝟓 − 𝟕𝟖. 𝟔 = 𝟏𝟑. 𝟔𝟕𝟐 − 𝟕𝟖. 𝟔 = 𝟔. 𝟔𝟗𝟓 − 𝟕𝟖. 𝟔 = 𝟏𝟔. 𝟒𝑴𝑨𝑫 = 𝟗. 𝟒 + 𝟏. 𝟔 + 𝟏𝟑. 𝟔 + 𝟖. 𝟔 + 𝟏𝟑. 𝟔 + 𝟔. 𝟔 + 𝟏𝟔. 𝟒 + 𝟏. 𝟒 + 𝟐𝟕. 𝟒 + 𝟏𝟎. 𝟔𝟏𝟎 = 𝟏𝟎. 𝟗𝟐

𝟕𝟕 − 𝟕𝟖. 𝟔 = 𝟏. 𝟔𝟖𝟖 − 𝟕𝟖. 𝟔 = 𝟗. 𝟒

𝟖𝟎 − 𝟕𝟖. 𝟔 = 𝟏. 𝟒𝟏𝟎𝟔 − 𝟕𝟖. 𝟔 = 𝟐𝟕. 𝟒𝟔𝟖 − 𝟕𝟖. 𝟔 = 𝟏𝟎. 𝟔𝑻𝒉𝒆𝒎𝒆𝒂𝒏 𝒂𝒃𝒔𝒐𝒍𝒖𝒕𝒆 𝒅𝒆𝒗𝒊𝒂𝒕𝒊𝒐𝒏 𝒊𝒔 𝟏𝟎. 𝟗𝟐. 𝑻𝒉𝒊𝒔 𝒎𝒆𝒂𝒏𝒔 𝒕𝒉𝒂𝒕𝒕𝒉𝒆 𝒂𝒗𝒆𝒓𝒂𝒈𝒆 𝒅𝒊𝒔𝒕𝒂𝒏𝒄𝒆 each data value is from the mean is 10.92 km/h
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𝒎𝒐𝒅𝒆 = 𝟖𝟐
𝒕𝒉𝒆 𝒃𝒆𝒔𝒕 𝒎𝒆𝒂𝒔𝒖𝒓𝒆 𝒐𝒇 𝒄𝒆𝒏𝒆𝒓 𝒓𝒆𝒑𝒓𝒆𝒔𝒆𝒏𝒕𝒕𝒉𝒆 𝒅𝒂𝒕𝒂 𝒊𝒔𝒎𝒐𝒅𝒆𝒃𝒆𝒄𝒂𝒖𝒔𝒆 𝒅𝒂𝒕𝒂 𝒉𝒂𝒗𝒆𝒎𝒂𝒏𝒚 𝒓𝒆𝒑𝒆𝒂𝒕𝒆𝒅 𝒗𝒂𝒍𝒖𝒆𝒔
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𝟏𝟗. 𝟗𝟓 , 21.50 , 21.95 , 21.95 , 21.95 , 22.50 , 25.00

𝒕𝒉𝒆 𝒃𝒆𝒔𝒕 𝒎𝒆𝒂𝒔𝒖𝒓𝒆 𝒐𝒇 𝒄𝒆𝒏𝒆𝒓 𝒓𝒆𝒑𝒓𝒆𝒔𝒆𝒏𝒕 𝒕𝒉𝒆 𝒅𝒂𝒕𝒂 𝒊𝒔 𝒎𝒐𝒅𝒆
𝒎𝒐𝒅𝒆 = 𝟐𝟏. 𝟗𝟓
𝒃𝒆𝒄𝒂𝒖𝒔𝒆 𝒅𝒂𝒕𝒂 𝒉𝒂𝒗𝒆𝒎𝒂𝒏𝒚 𝒓𝒆𝒑𝒆𝒂𝒕𝒆𝒅 𝒗𝒂𝒍𝒖𝒆𝒔
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15 members responded.

No one is taking more than 5 projects.

1 member is not taking any projects.

The response given most is 2 projects.

This represents the mode.
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The median = 42.5
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The median = 20

The mode =20

Range =8

More member sold 20 magazines

And there are no outliers
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𝟐 + 𝟏 = 𝟑
𝟕 + 𝟗 = 𝟏𝟔
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The median = 27

Q1 : 25  Q3 : 33  Range : 18  IQR : 8  

The right half of the data is more spread out and the 

left half is more concentrated. The median is close to 

the Q1. There are no outliers
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